
01. КОНТРОЛНИ ЗАДАТАК ИЗ МАТЕМАТИКЕ 
(РЕАЛНИ БРОЈЕВИ) 

ЗАДАЦИ ЗА ВЕЖБАЊЕ 
Разред: Ниво: 

7 2 
 

1. Израчунај: 

0,12 + 0,92 = 0,22 + 0,82 = 0,32 + 0,72 = 0,42 + 0,62 = 

0,22 + 0,92 = 0,32 + 0,82 = 0,42 + 0,72 = 0,52 + 0,62 = 

 

2. Израчунај: 

 −4 2 +  −5 2 +  −6 2 +  −7 2 =  −5 2 +  −6 2 +  −7 2 +  −8 2 = 

 −3 2 +  −4 2 +  −5 2 +  −6 2 =  −6 2 +  −7 2 +  −8 2 +  −9 2 = 

 −2 2 +  −3 2 +  −4 2 +  −5 2 =  −7 2 +  −8 2 +  −9 2 +  −10 2 = 

 −1 2 +  −2 2 +  −3 2 +  −4 2 =  −8 2 +  −9 2 +  −10 2 +  −11 2 = 

 

3. Реши једначину 

𝑥2 = 25 𝑥2 = 16 

 

𝑥2 = 36 𝑥2 = 9 

𝑥2 = 49 𝑥2 = 4 𝑥2 = 64 𝑥2 = 1 

 

 

АУТОР: Богдан Ђурић 
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2. Израчунај: 

  −8 2 +  −9 2 +  −10 2 +  −11 2 =   −7 2 +  −8 2 +  −9 2 +  −10 2 = 

  −6 2 +  −7 2 +  −8 2 +  −9 2 =   −5 2 +  −6 2 +  −7 2 +  −8 2 = 

  −4 2 +  −5 2 +  −6 2 +  −7 2 =   −3 2 +  −4 2 +  −5 2 +  −6 2 = 

 

3. Реши једначину: 

4𝑥2 = 100 2𝑥2 = 72 5𝑥2 = 80 

3𝑥2 = 147 6𝑥2 = 54 5𝑥2 = 320 

 

 

АУТОР: Богдан Ђурић 



01. КОНТРОЛНИ ЗАДАТАК ИЗ МАТЕМАТИКЕ 
(РЕАЛНИ БРОЈЕВИ) 
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1. Израчунај: 

a)  8 ∙  0,5 +  12:  3 = 

 

б)   8 + 3 12 − 2 27 + 4 18 : 7 2 = 

a)  3 ∙  27 −  24:  6 = 

 

б) 8 2:   50 − 2 75 −  32 + 5 12 = 

a)  0,2 ∙  80 −  50:  2 = 

 

б)  6 20 + 3 50 − 2 80 − 5 18 : 2 5 = 

 

2. Реши једначину: 

а) 6𝑥2 − 96 = 0 

 

 

б)   𝑥 +
2

3
 
2

= 1 

а) 4𝑥2 − 196 = 0 

 

 

б)   3 − 2𝑥 2 = 1 

а) 8𝑥2 − 128 = 0 

 

 

б)   𝑥 −
1

2
 
2

= 1 

 

3. У квадратић упиши одговарајући знак < или > : 

 13 +  7      4  15 +  2      4  7 +  3      3 
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2. Реши једначину: 

 4 1 − 𝑥 2 = 2  9 1 − 2𝑥 2 = 6  16 5 − 3𝑥 2 = 8 

 

3. Реши неједначину: 

  2 − 𝑥 2 ≤ 2   2 + 𝑥 2 ≥ 2   𝑥 + 3 2 ≤ 2 
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